# Subashi & Wildermuth The Greene Town Center 50 Chestnut Street, Suite 230 Dayton, OH 45440

Tax Identification #31-1564812

#### **Invoice submitted to:**

Dayton Public Schools Attn: Jyllian Bradshaw, Esq. 115 S. Ludlow St. Dayton OH 45402-3151 USA March 15, 2018 Invoice # 18051

## **Detailed Billing Statement For Services Rendered Through**

February 28, 2018

Matter: David Esrati v. Dayton City Commission, et al.

Montgomery County Court Case No. 2018 CV 00593

**Claim Number:** 

Our File Number: 2634.108

LEGAL FEES (per attached itemization): \$4,683.00

DISBURSEMENTS (per attached itemization): \$29.80

TOTAL OF CURRENT BILL: \$4,712.80

PREVIOUS BALANCE: \$0.00

PAYMENTS TO ACCOUNT: \$0.00

**BALANCE DUE:** \$4,712.80

CUMULATIVE FEES TO DATE: \$4,683.00 CUMULATIVE COST TO DATE: \$29.80

Matter: David Esrati v. Dayton City Commission, et al. Montgomery County Court Case No. 2018 CV 00593

**File No:** 2634.108

## **Legal Fees:**

		Hrs/Rate	Amount
2/6/2018 BLW	Calls with J. Bradshaw	5.30 170.00/hr	901.00
	etc.		
2/7/2018 BLW	Continued preparation	1.30 170.00/hr	221.00
BLW		3.20 170.00/hr	544.00
BLW	Prepared email re:	0.30 170.00/hr	51.00
BLW	Evaluated	0.20 170.00/hr	34.00
BLW	Exchanged emails re:	0.10 170.00/hr	17.00
BLW		2.00 170.00/hr	340.00
2/8/2018 BLW		0.40 170.00/hr	68.00
BLW		0.50 170.00/hr	85.00
2/10/2018 BLW	Continued prep	3.00 170.00/hr	510.00
2/12/2018 BLW	Email to	0.10 170.00/hr	17.00
BLW	Call with	0.10 170.00/hr	17.00
BLW	Continued prep	3.20 170.00/hr	544.00
2/13/2018 BLW	Evaluated issues	0.50 170.00/hr	85.00

Matter: David Esrati v. Dayton City Commission, et al.

Montgomery County Court Case No. 2018 CV 00593

**File No:** 2634.108

Hrs/Rate **Amount** 0.40 68.00 2/13/2018 BLW 170.00/hr **TDJ** Evaluate 0.30 51.00 170.00/hr 2/14/2018 BLW Prepared 0.60 102.00 170.00/hr 2/15/2018 BLW Continued preparation 0.30 51.00 170.00/hr **BLW** Continued planning 0.40 68.00 170.00/hr Evaluated **BLW** 0.10 17.00 170.00/hr 2/16/2018 DLG Analysis 0.60 60.00 100.00/hr **BLW** Call 0.10 17.00 170.00/hr **BLW** Call 0.20 34.00 170.00/hr **BLW** 0.70 Evaluation 119.00 170.00/hr BLWEvaluated 0.40 68.00 170.00/hr 2/19/2018 DLG Analysis and preparation 3.40 340.00 100.00/hr 2/20/2018 BLW Evaluated 0.70 119.00 170.00/hr **BLW** Exchanged emails 0.10 17.00 170.00/hr **BLW** Call with 0.10 17.00 170.00/hr **BLW** Prepared 0.20 34.00 170.00/hr

Matter: David Esrati v. Dayton City Commission, et al. Montgomery County Court Case No. 2018 CV 00593

	Hrs/Rate	<b>Amount</b>
2/21/2018 DLG Letter to D. Estrati re:	0.10 100.00/hr	10.00
DLG	0.40 100.00/hr	40.00
2/22/2018 BLW Planning	0.10 170.00/hr	17.00
For professional services rendered	29.40	\$4,683.00
<u>Disbursements:</u>		
	<u>Qty</u>	
2/7/2018 BLW - mileage to and from Dayton, Ohio for hearing	20	10.90
BLW - parking in Dayton, Ohio for hearing	1	8.00
2/12/2018 SEE - mileage to and from Dayton, Ohio for pick up documents	20	10.90
Total costs		\$29.80
TOTAL AMOUNT OF THIS BILL		\$4,712.80
Name Hours Brian L. Wildermuth Diana L. Grooms Tabitha D. Justice  Attorney Summary  Hours 24.60 24.60 24.60 25.00 25.00 26.00	170.00 100.00	Amount \$4,182.00 \$450.00 \$51.00

# Subashi & Wildermuth The Greene Town Center 50 Chestnut Street, Suite 230 Dayton, OH 45440

Tax Identification #31-1564812

### **Invoice submitted to:**

Dayton Public Schools Attn: Jyllian Bradshaw, Esq. 115 S. Ludlow St. Dayton OH 45402-3151 USA April 10, 2018 Invoice # 18099

## **Detailed Billing Statement For Services Rendered Through**

March 31, 2018

Matter: David Esrati v. Dayton City Commission, et al.

Montgomery County Court Case No. 2018 CV 00593

**Claim Number:** 

Our File Number: 2634.108

LEGAL FEES (per attached itemization): \$7,752.00

DISBURSEMENTS (per attached itemization): \$19.90

TOTAL OF CURRENT BILL: \$7,771.90

PREVIOUS BALANCE: \$4,712.80 PAYMENTS TO ACCOUNT: (\$4,712.80)

**BALANCE DUE:** \$7,771.90

CUMULATIVE FEES TO DATE: \$12,435.00 CUMULATIVE COST TO DATE: \$49.70

Matter: David Esrati v. Dayton City Commission, et al. Montgomery County Court Case No. 2018 CV 00593

**File No:** 2634.108

## **Legal Fees:**

		Hrs/Rate	<b>Amount</b>
3/2/2018 BLW	Prepared	2.50 170.00/hr	425.00
BLW	Continued prep	0.40 170.00/hr	68.00
3/3/2018 BLW	Continued preparation	0.40 170.00/hr	68.00
3/4/2018 BLW	Continued preparation	3.20 170.00/hr	544.00
3/7/2018 BLW	Continued preparation	0.90 170.00/hr	153.00
BLW	Evaluated	0.30 170.00/hr	51.00
BLW	Email to	0.10 170.00/hr	17.00
BLW	Call with	0.20 170.00/hr	34.00
3/8/2018 BLW	Participated in	0.40 170.00/hr	68.00
BLW	Evaluated	0.20 170.00/hr	34.00
BLW	Call with	0.20 170.00/hr	34.00
3/9/2018 BLW	Participated	0.40 170.00/hr	68.00
3/10/2018 BLW	Prepared	0.40 170.00/hr	68.00
BLW	Planning and prep	2.90 170.00/hr	493.00

Matter: David Esrati v. Dayton City Commission, et al. Montgomery County Court Case No. 2018 CV 00593

		Hrs/Rate	Amount
3/13/2018 BLW	Continued preparation	0.10 170.00/hr	17.00
BLW	Continued preparation	0.40 170.00/hr	68.00
BLW	Participated in	0.40 170.00/hr	68.00
TDJ		1.80 170.00/hr	306.00
BLW	Calls	0.30 170.00/hr	51.00
BLW	Continued preparation	0.50 170.00/hr	85.00
3/14/2018 TDJ	Continued preparation	0.60 170.00/hr	102.00
BLW	Evaluated	0.40 170.00/hr	68.00
BLW	Planning and preparation	6.80 170.00/hr	1,156.00
3/15/2018 BLW	Planning and preparation	5.00 170.00/hr	850.00
BLW		3.70 170.00/hr	629.00
3/16/2018 BLW	Planning and preparation	4.80 170.00/hr	816.00
BLW	Call	0.20 170.00/hr	34.00
BLW	Exchanged emails	0.10 170.00/hr	17.00
BLW	Exchanged emails	0.20 170.00/hr	34.00
3/17/2018 BLW	Research re:	2.30 170.00/hr	391.00

Matter: David Esrati v. Dayton City Commission, et al. Montgomery County Court Case No. 2018 CV 00593

		Hrs/Rate	<b>Amount</b>
3/19/2018 BLW	Evaluated	0.30 170.00/hr	51.00
BLW	Evaluated	0.10 170.00/hr	17.00
BLW	Initial evaluation	0.30 170.00/hr	51.00
BLW	Call	0.20 170.00/hr	34.00
TDJ	Preparation of	0.70 170.00/hr	119.00
BLW	Planning for	0.20 170.00/hr	34.00
BLW	Evaluated	0.20 170.00/hr	34.00
3/20/2018 BLW	Evaluated	0.20 170.00/hr	34.00
BLW	Call	0.10 170.00/hr	17.00
BLW	Exchanged emails	0.10 170.00/hr	17.00
BLW	Evaluated	0.50 170.00/hr	85.00
3/22/2018 BLW	Call	0.20 170.00/hr	34.00
3/23/2018 BLW	Call	0.30 170.00/hr	51.00
3/29/2018 BLW	Planning and preparation	1.80 170.00/hr	306.00
BLW	Continued preparation	0.30 170.00/hr	51.00
For pro	ofessional services rendered	45.60	\$7,752.00

Matter: David Esrati v. Dayton City Commission, et al. Montgomery County Court Case No. 2018 CV 00593

Disbursements:			
		<u>Qty</u>	<b>Amount</b>
3/15/2018 BLW - mileage to and from Dayton, Ohio for Evidentiary Hearing		20	10.90
BLW - parking in Dayton, Ohio for Evidentiary Hearing		1	9.00
Total costs			\$19.90
TOTAL AMOUNT OF THIS BILL		_	\$7,771.90
Name Brian L. Wildermuth Tabitha D. Justice	Hours 42.50 3.10	Rate 170.00 170.00	Amount \$7,225.00 \$527.00